Code No:

RAILWAYS BRIDGES AND TUNNELS

Time: 2:30 Hours] [Maximum Marks: 50

NOTES:

I.  Attempt all questions. All questions carry equal marks.

II.  Students are advised to specially check the Numerical Data of question paper in-both
versions. If there is any difference in Find Translation of any question, the' students
should answer the question according to the English version.

II.  Use of Pager and Mobile Phone by the students is not allowed.

Q1) Answer any two parts: [2x5=10]

a) What is permanent way? Also discuss the various components of permanent way.
b) Give the classifications of Indian Railways.
¢) Give a typical cross-section of railway track in: cutting and embankment.

Q2) Answer any two parts: [2 x5=10]

a) What is coning of wheels? What are the,advantages of coning of wheels?
b) What is creep of rail? List the various'causes/of creep.
c) Describe the various types of fixtutes and fastenings used in permanent way.

Q3) Answer any two parts: [2x5=10]

a) Discuss the variousdtypes of rails. And differentiate between Bull headed rail and Flat-
footed rails.

b) What is sleeper?Write the types of sleepers.

c) Define super/€levation with gauge speed and radius of curvature.

Q4) Answer any, twe parts: [2 x5=10]

a) Howyis bridge different from culvert? How can bridge be classified?

b) Whatis economical span of bride? What do you understand by straight and skew bridge?

¢) Define the terms: arch bridge, truss bridge, suspension bridge, bridge bearing and wing
walls.

Q5) Answer any two parts: [2 x 5=10]

a) Discuss the various parts of bridge. And write short note on various terms related to
bridge with the help of diagram.

b) Define tunnel. Discuss the importance of tunnel.

c) What is ballast? What are the functions of ballast?
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Q1) fH=2Y & WM & IR &: [2x5=10]

a) RITH T8HT AT 22 T ad & fafia gew) R W == #3
b) HRH Yord &1 Jffevor |
¢) ¥4 3 1 U ARy HTa-Aa=M §: HiET 3R dede|

Q2) fop=gY &I U & IR &: [2x5=10]

a) Ufeal &1 11 32 ufgal & ®19 A |1 BTS 72
b) X3 BT T FT 82 WA & Fafira srRoi &t 3t syl
<) R F9 A ITGRT fr oA ara fafirs vk & JerR ok wiie &1 qufa 91

Q3) fF=8Y S U & IR &: 2x5=10]

a) fafirs TR 1 ¥l IR Taf B | 3R A A aTeh ¥a 3R Tete TR Tl X b o SfaR =T
b) WHR o1 §? T P YR ferd|
¢) ST T 3R Tehal SRS & 1Y YR TS H1 aRUIRT o3 |

Q4) fr=gY 3t YT & IeX : [2x5=10]

a) T fern Jiahd S1erT g2 ol 1 v aeffepdt o ST Wbl &2
b) geg BI.3MMw 3rafd T g2 WY 3R foRe Yo & 311y 1 g €2
E)RIc o1 URYITT B 31T foret, <1 foret, T for, foret 9 siiR fam ata|

Q5) fF=2Y & Rl & IR &: [2x5=10]

a) a1 & fafid ymTl R = 3 | iR SR & 1Y g & Wi fafie 2raf uR e e ford|
b) I BT URUTIG B | T & A IR I D |
o ftam g st s e g2



